Practice questions — Year 5 and 6 — Order of operations
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. 48 + 12 x 4 - 8 = (order of operations)

. 60+5+ 18 -2 =(order of operations)

. 36+ 24 + 6 x 3 =(order of operations)

. 80+4-6+10=(order of operations)

. 48 + 12 + (36 - 24) = (order of operations)
. 60+ (10 + 5) + 18 = (order of operations)
. 80+ (4 +6)+ 10 = (order of operations)

. 72+ (6 + 6) x 2 = (order of operations)
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Practice question answers — Year 5 and 6 — Order of operations

. 48+ 12 x 4 - 8 = 88 (order of operations)

. 60+5+18-2 =28 (order of operations)

. 36+ 24 + 6 x3 =48 (order of operations)

. 80+4-6+10=24 (order of operations)

. 48 +12 + (36 - 24) = 49 (order of operations)
. 60+ (10 +5) + 18 = 22 (order of operations)

. 80+ (4 +6)+10=18 (order of operations)
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. 72+ (6+6) x2=12 (order of operations)
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